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38 100.0 87.54 15.24 17.26 20.47 15.3 17.32 20.8B 0.77  11000.3 (BDY_WNG60) 48 -2 111 90.38 100.0 87.54 15.28 17.29 20.39 15.26 17.29 261 0.44 0.28 0.29 1.75 11000.0 (BDY_BY60) 48 -2 —[L1 D
A(Y.x v:0.06 0.0001 0.0 (YO,x0,y:17.26 0. 2877 0 3257(Y1 xl yJ.17 32 o 2878 0 3258 (Ym ><m ym17 29 0.287770.3258 A(Y,X,9:0.0 —=0.0013 -0. 0011 (YO xO y‘)‘r17 29 0.2884 0 3264(Yl xl y1 17 290. 2871 o 3252 (Ym xm yr)117 29 0.28770.3258 =
90.38 100.0 87.54 14.79 16.44 14.52 14.84 16.5 0.07 0.06 000.3 (BDY_WNG60) 47 0 0 90.38 100.0 87.54 14.82 1 4.81 16.48 1. 0.45 0.7 1000.0 (BDY_BY60) 47 0 0 oy
A(Y,x,9:0.06 0.0 0.0 (Y0,x0,y(:16.44 0. 3232 0 3593(Y1 X1 yl 16 51 0.3232 0. 3594 (Ym xm ymle 47 0.3232 0.3593 A(Y,x,9:0.0 -0.0014 -0. 0013 (YO ><0 y¢r16 48 0.3239 0 36 (Yl xl yl 16 48 0. 3224 0. 3587 (Ym xm yr)116 48 0.3231 0.3594 Q_J
90.38 100.0 87.54 16.97 17.72 4.43 17.02 17.78 4.48 0.09 0.09 0.8  11000.3 (BDY_! WN60) 495 34 90.38°100.0 87.54 17.0 17.75 4.34° 16.99 17.75 430 1.24 124 045 05 1.6  11000.0 (BDY_BY60) 49 5 38 -
A(Y,x,9:0.05 -0.0005 -0.0004 (YO,x0,y:17.72 0.4338 0. 4529(Y1 xl yl 17 78 0.4333 0. 4525 (Ym Xxm,ym17.75 0.4335 0.4527 A(Y,x,9:0.0 —0.0026 -0.0024  (Y0,x0,y(:17.75 0.4349 O.. 4539(Y1 xl y;l 17 75 0. 4322 0. 4515 (Ym Xxm,ym17.75 0.4335 0.4527 o
90.38 100.0 87.54 17.98 18.46 0.7  18.04 18.52 0.19 79 .19 0.27 0.79° 11000.3 (BDY_WNG60) 50 7 73 90.38°100.0 87.54 18.02 18.48 0.59 18.01 18.49 0.88) 11 159 1. 1.74° 11000.0 (BDY_BY60) 50 7 73
A(Y,x,):0.05 —0.0006 —0.0006 (Y0,x0,y(:18.46 0.4841 0. 4968(Y1 X1 yl 18 52 0.4834 0. 4962 (Ym,xm,ym18.49 0.483870.4965 A(Y,x,9:0.0 -0.0037 -0.0032  (YO,x0,y(:18.48 0.4857 0. 4981(Yl xl y;l 18 49 0.4819 0. 4948 (Ym xm,yNn18.48 0.4838 0.4965 8_
D
11
i}
>0
1-000030-L0 XE690-7N_3 1-000030-L0O XE691-7N_5
TUB-test chart XE69; Colour thresholds data input: W/r% /cmyk —> w/rgb/cmyk
RI experiments: Seried/ PN, GDR, BDYh directionsWN, GR, BYLA JNDA & D65 -
] M Y [0)
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